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Kilograms = grams / 1000
Meters = centimeters / 100
Convert all grams to kilograms.  Convert all centimeters to meters.  

Mass of counter balance___________								 
Change in height_____________
Mass of projectile______________

g = 9.81 m/s2
Use the counter balance mass, starting height, and ending height from above to calculate the change in potential energy    of the trebuchet.  
K				U					E						 




Total velocity = (Vx2 + Vy2)
Calculate the total velocity of a ball.  Velocity X is 10 m/s.  Velocity Y is 12 m/s.
K					U					E


KE = .5mv2
Use the mass of the projectile and the total velocity.  Calculate the kinetic energy of the trebuchet.  
K					U					E




Efficiency = (KE / 
Calculate the efficiency of the trebuchet.
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